> A
A & 0l & AF 2 E A A
20138 = =0l & LB H AR ST ~ ALSI = X 1t
SN ALSI S X
A J|ZMEBE
S MASHSMtE LSS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
At = X ot 530,774,370 491,521,988 39,252,382
= 372,188,788
J| 4,368,000
=2 24,266,073
< 129,951,509
DI ) 314,843,215 300,843,400 13,999,815
= 288,297,292
< 26,545,923
MASHSAE gt L & F 314,843,215 300,843,400 13,999,815
= 288,297,292
< 26,545,923
[ =MESEZ OIS (A 205,165,118 193,897,042 11,268,076
2 188,657,580
< 16,507,538
308 MtXIEHMSOIH 205,165,118 193,897,042 11,268,076
= 188,657,580
< 16,507,538
01 HXNHHNBHEELS 205,165,118 193,897,042 11,268,076
O30 =480 (MASO) 205,165,118
=2 188,657,580
< 16,507,538
S ZMEBEZHIR(FH) 45,698,239 43,458,218 2,240,021
= 42,021,369
< 3,676,870
308 XX EHH SOl 45,698,239 43,458,218 2,240,021
= 42,021,369
< 3,676,870
01 IXNHHBNEES 45,698,239 43,458,218 2,240,021
O3 =MESH(=HSA) 45,698,239
= 42,021,369
< 3,676,870
I ZMEEEASHIR(LF) 7,656,012 7,872,717 A 216,705
= 7,040,011
< 616,001
308 XtXIEHH SOl A 7,656,012 7,872,717 A 216,705
= 7,040,011
< 616,001
01 X HHILEES 7,656,012 7,872,717 A 216,705
O=220 =430 (RE30) 7,656,012
= 7,040,011
< 616,001
[ =MESEZ X2 (o AHE ) 2,146,930 1,464,678 682,252
= 1,974,189
< 172,741
308 A EHHSOIA 2,146,930 1,464,678 682,252
= 1,974,189




AN ALEI =X

B ) ZMERE

S MASHSMtE LSS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

< 172,741

01 AXHHBIYEES 2,146,930 1,464,678 682,252
O2N =M (HMAEHS) 2,146,930
= 1,974,189
< 172,741

AZ =X XA AL 3,270,420 3,945,815 /675,395
= 3,007,283
< 263,137

308 AAIEHHSOIA 3,270,420 3,945,815 A 675,395
= 3,007,283
< 263,137

01 HXNHHBHELS 3,270,420 3,945,815 A 675,395
O2=sSX X2 A 3,270,420
= 3,007,283
< 263,137

FRLIEXA 6,801,940 6,790,552 11,388
= 6,670,269
< 131,671

308 XAXIEHHSOIA 6,801,940 6,790,552 11,388
= 6,670,269
< 131,671

01 IXNHHBNEES 6,801,940 6,790,552 11,388
O¥sgzgon 6,801,940
= 6,670,269
< 131,671

M3 SXNSSMUEAMZQAXL 1,224,288 1,188,489 35,799
= 941,760
< 282,528

308 XtXIEHH SOl A 1,224,288 1,188,489 35,799
= 941,760
< 282,528

01 X HHILEES 1,224,288 1,188,489 35,799
OMSEXNSEMUEAEZRRAXZ 1,224,288
= 941,760
< 282,528

SSENEEHMAHAMNS 195,845 166,842 29,003
= 150,650
< 45,195

308 A EHHSOIA 195,845 166,842 29,003
= 150,650
< 45,195

01 HIXNHHBMNEELS 195,845 166,842 29,003
O33=XNEEHAHMNE 195,845
= 150,650
< 45,195




2N

X{ XH -
S =

Akl = X1 ot

NEMESE

O HASHEMSGHY S (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NEIZZ ALY 27,043,350 29,250,401 A2,207,051
= 25,700,000
< 1,343,350
308 XAHXIEHH SOl 27,043,350 29,250,401 A2,207,051
= 25,700,000
< 1,343,350
01 IXNHHBNEES 27,043,350 29,250,401 22,207,051
O AY 27,043,350
= 25,700,000
= 1,343,350
HEeEHAS IR 2,052,400 1,976,050 76,350
= 1,894,000
< 158,400
308 XtXIEHH SOl A 2,052,400 1,976,050 76,350
= 1,894,000
< 158,400
01 AXHHILEES 2,052,400 1,976,050 76,350
O 2,052,400
= 1,894,000
< 158,400
NAXedH2AL X2 3,510,097 3,463,741 46,356
= 3,052,258
< 457,839
308 XtXI &M S0l & 3,510,097 3,463,741 46,356
= 3,052,258
< 457,839
01 HXNHHNBHELS 3,510,097 3,463,741 46,356
OXSAXNSHMEH2SEH XA 3,510,097
= 3,052,258
< 457,839
THE AR & O RE A& SOt E 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
10 A3l =X 2 X 20,000 20,000 0
OXHEAIS & O XA & & 0HE 20,000
IIANZIE EL0IALY 1,511,362 1,184,719 326,643
= 1,341,445
< 169,917
308 XtXIEHH SOl A 1,511,362 1,184,719 326,643
= 1,341,445
< 169,917
01 AXHHILEES 1,511,362 1,184,719 326,643
COtA P E ER0IALS 1,511,362
= 1,341,445
< 169,917

w




SN ALSI S X
M ) ZMBYE
S MASHSMtE LSS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AH&HAtedl 2t el Ak 139,318 0 139,318
= 121,903
< 17,415
308 XAHXIEHH SOl 139,318 0 139,318
= 121,903
< 17,415
01 IXNHHBNEES 139,318 0 139,318
O XHE Atedl 22l 139,318
= 121,903
= 17,415
Y= EE 3,307,300 2,801,042 506,258
= 3,067,000
< 240,300
308 XtXIEHH SOl A 3,307,300 2,801,042 506,258
= 3,067,000
< 240,300
01 AXHHILEES 3,307,300 2,801,042 506,258
Os¥rIss% 3,307,300
= 3,067,000
< 240,300
KNSR EHSAR = 66,528 57,024 9,504
308 A EHHSOIA 66,528 57,024 9,504
01 HXNHHNBHELS 66,528 57,024 9,504
OXNSTHEHEHSAMIE=E 66,528
O¥d=< 47,520
OPUEE= 19,008
HASEFHSEMEAMS 225,000 225,000 0
403 UHXSHHSA=0l& 225,000 225,000 0
01 X SHMA2E X 225,000 225,000 0
OMASSFAHSIMEAY 225,000
SClAIE 2GR 41,400 41,400 0
308 XXM SO0 A 41,400 41,400 0
01 IXNHHBNEES 41,400 41,400 0
D& AdH2AX 41,400
S A2 I ME 917,550 0 917,550
= 734,040
< 183,510
307 21201 A 917,550 0 917,550
= 734,040
< 183,510
10 AFRISXIE X 917,550 0 917,550
OsYe2E2RE 917,550




SN ALSI S X
MM ) ZMEDE
S MASHSMtE LSS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 734,040
< 183,510
C=0=TAME2E 1,857,143 1,638,409 218,734
= 1,300,000
< 557,143
308 XXM SO0l A 1,857,143 1,638,409 218,734
= 1,300,000
< 557,143
01 IXNHHBNEES 1,857,143 1,638,409 218,734
OL==sTALE2S 1,857,143
= 1,300,000
= 557,143
Cmo=TAMAEsES 810,595 86,841 723,754
= 623,535
< 187,060
403 XSS X201 & 810,595 86,841 723,754
= 623,535
< 187,060
01 X SHHA2E = 810,595 86,841 723,754
OL=s0=2XAE)IsEZAY 810,595
= 623,535
< 187,060
C=QETAE Y AR 2 E 3,780 3,780 0
308 A EHHSOIA 3,780 3,780 0
01 HIXNHHNBHEELS 3,780 3,780 0
OL=0=2X A AX S| 3,780
I=zMESIEE I RIS 5,000 10,000 A5,000
201 24l 5,000 10,000 A5,000
03 A2 Z Hl 5,000 10,000 25,000
=Y EZEISRAAIAS 5,000
MHASS2SHALIXNE 216,000 216,000 0
308 XtXIEHHSOIA 216,000 216,000 0
01 XML EES 216,000 216,000 0
ONMASSESsHALIXRE 216,000
MASFUALESESILHEIQAYESE S X AE 873,600 800,640 72,960
308 XtXIEHH SOl A 873,600 800,640 72,960
01 HXNHHBHEELS 873,600 800,640 72,960
OMASFRUHLEHZ LI QA EHZ AR 873,600
BHEEAAA XA 50,000 50,000 0
301 et d = 50,000 50,000 0
01 MEI2EZE+06l= 50,000 50,000 0




AN ALEI =X

B ) ZMERE

Sl HASHBAMSAYRS (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OMXNLJAINES S 12,000
OQAXNLIAIRESEELERAZZ 38,000
I ZMBEHARFA 34,000 34,000 0
201 Bt A | 18,000 18,000 0
01 AtR 22l bl 18,000 18,000 0
OJget=g| 15,000
OJ=dMa8HgRUEI=2H| 15,000
o= 4l 1,000
OMolRsgdR2R=E 1,000
02| 2,000
OMl 2 RS F=E S A | 2,000
202 04| 11,000 11,000 0
01 2LH O HI 11,000 11,000 0
OJIZMEa8 A2 0| 11,000
203 ¥R =&H| 5,000 5,000 0
03 A =X R =XH| 5,000 5,000 0
Ogoes2l 5,000
oI =EXSE 120,213,007 103,277,321 16,935,686
= 68,010,130
Dl 4,368,000
= 19,176,321
& 28,658,556
ORI Mot ™ X & 69,532,406 61,051,397 8,481,009
= 61,457,203
& 8,075,203
O AZS A 31,740,633 27,629,909 4,110,724
= 28,780,367
= 2,960,266
308 XHXIEHAHIS 0 & 31,740,633 27,629,909 4,110,724
= 28,780,367
[ 2,960,266
01 AXHHIMNEXS 31,740,633 27,629,909 4,110,724
O ASAIA 31,740,633
= 28,780,367
= 2,960,266
SO =X & 9,693,616 9,799,547 A 105,931
= 8,589,280
o= 1,104,336
308 XX €Al S 0] & 9,693,616 9,799,547 105,931
= 8,589,280
& 1,104,336
01 AIXHMBAEXZ 9,693,616 9,799,547 A 105,931
DM XH(II=x) 4,874,616




A AMIEX
Hu: Y =XE
Sl MO MBI (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 7,319,280
= 555,336
OXMH=S X2 (XA 4,819,000
= 4,270,000
= 549,000
ZoHelol 2 HI X & 3,794,750 2,670,300 1,124,450
= 3,530,000
o 264,750
308 MXISHMSOIA 3,794,750 2,670,300 1,124,450
= 3,530,000
= 264,750
01 AIXSHMEMNEXZ 3,794,750 2,670,300 1,124,450
OZEelo 24 X 3,794,750
=2 3,530,000
= 264,750
P RN ER=U s DN 56,648 51,592 5,056
= 52,696
& 3,952
308 XX EHSOIA 56,648 51,592 5,056
= 52,696
== 3,952
01 AIKISHMEMNEX= 56,648 51,592 5,056
&0 QI Kb &HH| K & 56,648
= 52,696
= 3,952
HHIBEXRD|RWE 134,375 146,200 A 11,825
= 125,000
= 9,375
308 MXISHHSOIA 134,375 146,200 A 11,825
= 125,000
= 9,375
01 HXHHIMNEXTZ 134,375 146,200 A 11,825
O EERI RS 134,375
= 125,000
= 9,375
HHESAMAMANESYE 37,080 31,899 5,181
= 24,720
= 12,360
308 XX SHHSOIH 37,080 31,899 5,181
= 24,720
o 12,360
01 AIXSHMENEXZ 37,080 31,899 5,181
OIS ZSAAMNE2H 37,080
= 24,720
= 12,360
SHEHHQFEIH ALY 372,400 359, 100 13,300




SN ALSI S X
Hu: HOjQI=REX
Hel: A MEHEXH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 266,000
< 106,400
403 MtXISHHE X201 & 372,400 359,100 13,300
= 266,000
< 106,400
01 XM A=2EE 372,400 359,100 13,300
OsHEZ O FEH T AL 372,400
= 266,000
< 106,400
ZOHQIAHIAIEL A0 EEXA 87,027 160,804 ANT3,777
= 77,112
= 9,915
308 MtXIEHSOIH 87,027 160,804 NT3,777
= 77,112
< 9,915
01 HXNHHNBHEELS 87,027 160,804 NT3,777
OO AH AL A0SR 87,027
= 77,112
< 9,915
ZOESXA(HIRY) 18,508,571 16,364,286 2,144,285
= 16,400,000
< 2,108,571
308 XX EHSOIA 18,508,571 16,364,286 2,144,285
= 16,400,000
< 2,108,571
01 HIXNHHBNEES 18,508,571 16,364,286 2,144,285
OZM s (FHII2Y) 18,508,571
= 16,400,000
< 2,108,571
ZOHI SR LRl KA 1,869,046 1,115,654 753,392
= 1,437,728
< 431,318
308 XXIEHH SOl A 1,869,046 1,115,654 753,392
= 1,437,728
< 431,318
01 AXHHIYEES 1,869,046 1,115,654 753,392
OO =X Rtel K& 1,869,046
= 1,437,728
S 431,318
FOHAHZ RO XIE AL 2,780,865 2,308,703 472,162
= 2,059,900
< 720,965
308 A EHHSOIA 2,780,865 2,308,703 472,162
= 2,059,900
< 720,965
01 HIXNHHNBHEELES 2,780,865 2,308,703 472,162




2AM: ASI =X

2
Ha: M=K
2

=5
Chelr ROjQI MO X & (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHHUHEESOI XA 2,780,865
= 2,059,900
< 720,965
Z 2 A2 Z0H Q1 OHOFAMIIHA AH Y 142,992 99,000 43,992
= 114,400
< 28,592
308 XX EHH SOl A 142,992 99,000 43,992
= 114,400
< 28,592
01 X HHILEES 142,992 99,000 43,992
OBZ2GAIZTZ 00 QI OFOFAFIFA AFS 142,992
= 114,400
< 28,592
ExSUMASHOMH2EHSHI X 41,000 41,000 0
308 AHAIEHHSOIA 41,000 41,000 0
01 HIXNHHNBMNELS 41,000 41,000 0
EFSNHASHOMHA AT EHI KR 41,000
FHADEEZ2SHIEAINELS 9,403 9,403 0
101 @124 dl 9,403 9,403 0
04 DIt Z22XREES 9,403 9,403 0
DML DEEESSHES S ELZ Y| 9,403
HOHQESE X XA (XA 264,000 264,000 0
308 XXIEHH SOl A 264,000 264,000 0
01 XML EES 264,000 264,000 0
DX EesEAMEBIAXA 264,000
o ol = X K& = 8,309,886 6,860,033 1,449,853
= 4,439,460
=2 35,000
< 3,835,426
ZOHQIMAZSEIHAIE2Y 144,250 140,000 4,250
= 57,700
< 86,550
307 21201 A 144,250 140,000 4,250
= 57,700
= 86,550
10 A2l =S X2 X 144,250 140,000 4,250
OXH MAZTHIAIEZS 144,250
= 57,700
< 86,550
AT WS XA AL 49,500 45,000 4,500
= 39,600
= 9,900
307 glz2tol & 49,500 45,000 4,500




2N
X ZH -
L= B

el

AVEl = X Bt
Zoj=xE
=SS T

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

= 39,600
< 9,900

10 AFRISXIEX 49,500 45,000 4,500
OHEZEM WS X &AAS 49,500
= 39,600
S 9,900

ESZMANSME(IL)2IXE 210,000 210,000 0
= 120,000
< 90,000

308 MtXIEHMSOIH 210,000 210,000 0
= 120,000
= 90,000

01 HXNHHNBHEELS 210,000 210,000 0
O=SZANBMEE(IL)2LEXJ 210,000
= 120,000
< 90,000

ZOOtsSTHEX = 4,144,380 3,369,794 774,586
= 3,603,810
< 540,570

308 XXM SOl A 4,144,380 3,369,794 774,586
= 3,603,810
< 540,570

01 IXNSHHBNEES 4,144,380 3,369,794 774,586
OXFHOtsSHER = 4,144,380
= 3,603,810
< 540,570

OO S L F XA 411,300 358,000 53,300
= 287,910
< 123,390

308 XX EHH SOl A 411,300 358,000 53,300
= 287,910
< 123,390

01 X HHILEES 411,300 358,000 53,300
OXZOHOINESLSEXA 411,300
= 287,910
< 123,390

A EERE 154,330 168,084 N 13,754
= 134,200
< 20,130

308 AHXIEHHSOIA 154,330 168,084 N 13,754
= 134,200
< 20,130

01 HIXNHHNBMNEELS 154,330 168,084 N 13,754
OANEBLEMESXHEHANHLE XA 154,330
= 134,200
< 20,130




2N
X ZH -
L= B

el

AVEl = X Bt
Zoj=xE
=SS T

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
KNEZOHQU X KMMHSHE (0] ) 268,000 203,000 65,000
308 XX EHSOIA 268,000 203,000 65,000
01 AIKSHHEMNEX= 268,000 203,000 65,000
OXNEEHHOXKFAHAHSH(0]) 28,000
OXNEZHOXRAHSE (KA 240,000
ZOHCITHE X K MEH2F (0] ) 27,192 27,192 0
308 XX SHAHSOIH 27,192 27,192 0
01 AIXSHMENMNEX= 27,192 27,192 0
COXOHQITHE X RFAHSHE (0] 2) 27,192
O X XS ALS 492,500 458,000 34,500
308 XX EHSOIA 492,500 458,000 34,500
01 AIKSHHEMNEX= 492,500 458,000 34,500
SUSOI A B EH 22ASALY 9,000
OANZWSEADIOIOHAAEAS 240,000
ORNEHMAUEESAIE 20,000
OJANZELSZHAHE XN RMEHS S 63,000
J&O0HQIDIS AL 22l At 71,500
OISO B EHE2ER0I2Y 44,000
OANEEHOISSALSARA 45,000
SO M AFE THOH Al & X & 54,000 30,000 24,000
308 XHXIEHSO|A 54,000 30,000 24,000
01 AIXSHHEMNEX= 54,000 30,000 24,000
D& QI M AFS EHOH Al & X & 54,000
ZHONQIHO Al S E R X 2 (01) 849,529 733,000 116,529
= 35,000
& 814,529
307 QI2t0| & 233,000 233,000 0
= 35,000
& 198,000
10 Al SR EX 233,000 233,000 0
JXEHOIEHOIAIE=ERHUH2H (0] ) 83,000
= 35,000
== 48,000
O X HMEHQHOALHEH2HE (0] Y) 150,000
308 XHXIGH SO0l & 616,529 500,000 116,529
01 AIKISHENEXZ 616,529 500,000 116,529
OAMZXAEHCIHOAILEHEH2HE (0]12) 552,000
&I EHOI Al A A =K A} 64,529
ZHOH QI TH 2 AL KT & 963,827 850,963 112,864
308 XX EHSOIA 963,827 850,963 112,864
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AN ALEI =X

g Zoeg=sisd

Sl ZHASXIR 2= (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
oIS 2828 EXNE 109,968 0 109,968

= 97,440
= 12,528
308 XXM SO0l ™ 109,968 0 109,968
= 97,440
= 12,528
01 XM BaE2ES 109,968 0 109,968
OFotsR2 M4 109,968
= 97,440
S 12,528
gl dEs AT AN 39,990 0 39,990
= 37,200
= 2,790
308 XXM SO0l ™ 39,990 0 39,990
= 37,200
= 2,790
01 HXHHBAEES 39,990 0 39,990
O2eduodd=ANBHENHIS X 30,960
= 28,800
S 2,160
OgeyedasANEI AT 9,030
= 8,400
£ 630
O M A HAX A 1,932,690 1,237,000 695,690
ZOH QIS HI A X 2 1,631,690 1,056,000 575,690
307 giztol & 1,351,690 1,056,000 295,690
10 Al S X2 X 1,351,690 1,056,000 295,690
OSX M & &AL X & 110,000
O uwsSAMITMAATSHEHSSE 35,000
OF=ZAMEMEH2S 84,340
OIS dEX#A 35,000
OFBREHUALSEMN2S 17,000
OHEHYMASHEZ2SE 25,200
OFoer=stsarage s et 45,000
DA =02 X 51,000
OusSotd=3usX& 76,500
OANSHZOHANS RS LA 48,000
OXNHEHARL2 I 6,000
OZMAR2IHERHE S 30,000
O unsX& 3,000
OFHI a2t X & 248,000
DssdiedazssSmtssid 40,000
OXNMEHAALNEXNBLUEHZE 60,000
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A MBS

g Zoe=sx

as 2O

CHel: R ONQICHTI Y B ALKI CER-ED
= - — SHE|
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2

| | OZASTRHHASI2EE 0l SR A 20,000

SOHI=SXAIEX A 40,438,025 34,128,891 6,309,134
2 2,113,467
| 4,368,000
& 19,141,321
< 14,815,237

ZOHAAATHEAN LI SEZ 875,482 308,750 566,732
= 660,721
< 214,761

403 Mt S E X201 & 875,482 308,750 566,732
= 660,721
< 214,761

01 X SHHMA 28X 875,482 308,750 566,732
OZAXNAHEAIL I SES 875,482
= 660,721
< 214,761

FsegsEX22AE 4,368,000 500,000 3,868,000
| 4,368,000

403 UHXSHHSA=0l& 4,368,000 500,000 3,868,000
J| 4,368,000

01 HXHHMA=LE X 4,368,000 500,000 3,868,000
OZSAN=SARMHA SR 2HE 1,000,000
| 1,000,000
OZ=AMTHASE=N2AE 3,368,000
| 3,368,000

HOHQI AT A LSS (01Y) 1,514,321 1,345,358 168,963
= 393,362
= 1,120,959

308 XtXIEHHSOIA 1,514,321 1,345,358 168,963
2 393,362
= 1,120,959

01 HXNHHMBHELS 1,514,321 1,345,358 168,963
CIROHOIE QI TH B Al & 29 (01 2) 1,514,321
& 393,362
< 1,120,959

ZOHAA=AIE XA 26,375,055 22,803,227 3,571,828
&2 18,322,959
< 8,052,096

308 XXM S0 A 26,375,055 22,803,227 3,571,828
&2 18,322,959
< 8,052,096

01 HIXNHHBNEES 26,375,055 22,803,227 3,571,828
O MEALER2F(01) 25,747,819
& 18,322,959
< 7,424,860




AN ALEI =X

g Zoeg=sisd

Sel: ZHASIAILXH (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS

OZOMHASHIAFAE2E(01Y) 398, 136
O ZSSHEINFE2F(01Y) 127,100
OXOH MEAILAHEIAXA 87,000
O MEALEATNKNSEMEHXIIA 15,000

ZOHASXAIESA A ==& 826,140 712,656 113,484

308 A EHHSOIA 826,140 712,656 113,484

01 HIXNHHBHEELES 826,140 712,656 113,484
OO =X AL SA RS 826,140

O MEALIISEZ 1,888,570 3,362,975 AN 1,474,405
= 1,452,746
=) 435,824

403 MtXISHHS =0l & 1,888,570 3,362,975 AN 1,474,405
= 1,452,746
=) 435,824

01 AXISHHA=2E = 1,888,570 3,362,975 AN 1,474,405
O MEALIISEZ 1,888,570
= 1,452,746
< 435,824

NI X GASTHEAE 2 (01 ) 4,380,457 4,248,235 132,222
= 385,000
< 3,995,457

307 glztol & 1,400,000 1,400,000 0
= 385,000
< 1,015,000

10 Al SX2X 1,400,000 1,400,000 0
OSHMHASE=RN2H22(01Y) 1,400,000
= 385,000
=) 1,015,000

308 XX EHH SOl 2,980,457 2,848,235 132,222

01 HXNHHBMNELS 2,980,457 2,848,235 132,222
OANZZAESSSEX22Z(012) 350,000
OSA2LEHASAN2H2E(01Y) 560,000
O F2AESAIE2H(01Y) 457,420
OZOHQI2THEAE 22 (01Y) 87,500
O3=2ENEA22E 85,000
O+stSAHH2Z(01) 432,710
O=SSHUANEXN2LMHZ2SH 439,111
OZMHMSEHMH2L X2 (012) 568,716

O X LA HEALI S22(01Y) 210,000 247,690 A 37,690
= 40,000
=) 170,000

403 A X EHS K= 0l A 210,000 247,690 A 37,690
& 40,000




2N
X ZH -
L= B

el

Akl = X1 ot
e =xsa
TS X AEX

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 170,000
01 XM A=2EE 210,000 247,690 A 37,690
OS2I sEZ AL (01) 150,000
&2 40,000
< 110,000
CIZOH QI XI & ALS] TH & Al & XF 2RI (XEA) 60,000
KNS ASI SR AU AZ S 36,333,881 34,152,431 2,181,450
= 15,881,366
& 5,089,752
< 15,362,763
NDAS SR AL =X 26,366,481 22,908,001 3,458,480
= 14,381,366
& 5,089,752
< 6,895,363
NS ALS MU A S XA 10,151,575 11,075,401 N 923,826
= 8,991,366
< 1,160,209
307 glz2+ol & 278,500 0 278,500
= 195,000
= 83,500
10 AtSI =X 2 X 278,500 0 278,500
OXNSMIAMEIAXEAHZS 278,500
= 195,000
< 83,500
308 XX EHH SOl A 9,873,075 11,075,401 A 1,202,326
= 8,796,366
< 1,076,709
01 X HHILEES 9,873,075 11,075,401 A 1,202,326
OXS A AEIASE XA 9,873,075
= 8,796,366
= 1,076,709
MalEXEsE233E=NE2E XA 50,000 50,000 0
307 gl2tol & 50,000 50,000 0
10 At =S X2 X 50,000 50,000 0
OMsIEXZs233EdSXNs2HRE 50,000
M3 2XEE L2 S 30,000 45,000 A 15,000
201 Let24E] 10,000 0 10,000
03 A2 Z I 10,000 0 10,000
OAM=EXE2dZ et 10,000
308 XX EHH SOl A 20,000 20,000 0
01 X HHILEES 20,000 20,000 0
OAtRI =X QI A ek 5t 20,000
MEISXANELEEZEANAE NS 10,000 10,000 0




2N

X{ XH -
S =

£

Ea2y
D NGAS S XA =&

At = X ot

XS A2 S XA st

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 10,000 10,000 0
10 A3l =X 2 X 10,000 10,000 0
OMIISXAMEEEANAEHDSE 10,000
FAURAANLISEZ 864,500 146,575 717,925
= 665,000
< 199,500
403 XSS X201 & 864,500 146,575 717,925
= 665,000
< 199,500
01 XXM 22 = 864,500 146,575 717,925
OFNQLAANEI) I SEZ 864,500
= 665,000
< 199,500
MEISXANESAMAEZ WS 80,000 80,000 0
307 gl2tol & 80,000 80,000 0
10 A2l S X2 X 80,000 80,000 0
OASZXNAESANE2ZNE 80,000
FAEZAS=EXNEAS 2SN 170,000 150,000 20,000
307 glz2tol & 170,000 150,000 20,000
10 M3 2REX 170,000 150,000 20,000
OZa4=sZ A Sgds 29X 170,000
A3 =X 2l &AL 30,000 30,000 0
307 21201 A 30,000 30,000 0
10 A3l S X2 = 30,000 30,000 0
LJAtEI £ X2 & & A 30,000
B2 XA =X ALA Z 5] 30,000 30,000 0
307 21201 A 30,000 30,000 0
10 A2l =S X2 X 30,000 30,000 0
OB =X A2 2 X AA Z 3 30,000
AN EXNEEHH2Y 120,000 120,000 0
307 gl2t0l & 120,000 120,000 0
10 A2l =S X2 X 120,000 120,000 0
OMEESXE2HdEH2SE 120,000
HAZESHMAANENSUS 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
10 AtSI =X 2 = 10,000 10,000 0
OURASZINIAEHSUHSE 10,000
AbS| =X 25 AHXHAIO L 15,000 15,000 0
307 21201 A 15,000 15,000 0




2N
X ZH -
L= B
el

At = X ot
XS A2 S XA

225t
KAASSXNAS =2

(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
10 Al SR EX 15,000 15,000 0
O AE = X 2t Z AFAEAI O] LE 15,000
MIIEXAELATMEET S 284,000 245,400 38,600
301 et A= 284,000 245,400 38,600
01 M3 EXEE 2562 284,000 245,400 38,600
OASSXAIELAXNHEZSAH 284,000
HAQUAALBUATYXEX 25,955 25,955 0
308 XNHXIEHSOIA 25,955 25,955 0
01 AIXSHMEMNEXZ 25,955 25,955 0
OHAMQQUAAELAXNNYAZAEH 25,955
ASISXNAIES ARG 173,016 147,600 25,416
308 XHXIEHSOIA 173,016 147,600 25,416
01 AIKSHHEMNEXZ 173,016 147,600 25,416
OAMSIEXAIES A= 173,016
O&H e 129,960
O 43,056
A3 S X2 ESHAY 81,000 81,000 0
308 XAXISH SO0l & 81,000 81,000 0
01 AIXSHHENEXZ 81,000 81,000 0
A =S X2 ESHAY 81,000
HAQUAIL2H (0| ) 6,584,175 6,065,937 518,238
= 5,089,752
= 1,494,423
308 MXISHMSOIA 6,584,175 6,065,937 518,238
= 5,089,752
=} 1,494,423
01 IIXHHIMNEEXTZ 6,584,175 6,065,937 518,238
OAMNQSUAE2H(0]) 6,584,175
= 5,089,752
== 1,494,423
FOPI=sSASHESAH2S 10,000 10,000 0
307 2Iz2t0| & 10,000 10,000 0
10 SIS X EX 10,000 10,000 0
OR0OIII=sSASESAHRA 10,000
FA=SHENHRA(&5H) 2,000,000 1,700,000 300,000
306 52 2,000,000 1,700,000 300,000
01 52 2,000,000 1,700,000 300,000
OJHsHH2d 2,000,000
AEENNE0)=se2Y 12,000 12,000 0




2N
X ZH -
L= B
el

At = X ot
XS A2 S XA

225t
KAASSXNAS =2

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET

201 Lt 12,000 12,000 0

01 At 22l 8,000 8,000 0
Oext= 8,000
O3==XN=017] =R 8,000

02 =224l 4,000 4,000 0
Oxt&deh] 4,000
OZ=EXNS0IISENHEREU 4,000

M SEXNFEHURESSIAAY 2,000 2,000 0

303 Z& = 2,000 2,000 0

01 243 2,000 2,000 0
OMEISXNFURSSREANY 2,000

HELHZ2 02 LA 30,000 0 30,000

307 glz2tol & 30,000 0 30,000

10 AtSI =X 2 X 30,000 0 30,000
OEsUH=0gd3 X 30,000

A AtS = XE 2l A& 138,000 138,000 0

308 XXM SOIA 138,000 138,000 0

01 IXNSHHBANEES 138,000 138,000 0
OXGAM=NEAMS S XA 138,000

AMSISXAIE AKX 15,760 15,758 2

308 MtXIEHSOIH 15,760 15,758 2

01 X HHIBLEES 15,760 15,758 2
OOARI SR AIE L AXAZH & 7,880
OMSISXAIE L AT A 7,880

KNS AS =X AE=E 77,000 75,000 2,000

201 L2l 17,000 25,000 A 8,000

01 At 221l 17,000 25,000 A8,000
Ogpt=2Hl 11,000
OXAAMNSINAE =T L eS| 11,000
O2g+¢ 6,000
OXAAM=XNAEAE =S L0 6,000

202 Odl 25,000 25,000 0

01 = LH o4 1l 25,000 25,000 0
OXGA SRS RFE0OH 25,000

203 YR =2l 15,000 25,000 A 10,000

03 Al =AY R =& 15,000 25,000 210,000
OXGMNI=SXNRNLASELRFA 15,000

207 A O] 20,000 0 20,000
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2N
X ZH -
L= B

el

N
Xl

Akl = X1 ot

A S X AHI A2 5
A S X ALS =&

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 A2 EHH| 20,000 0 20,000
OXNSGAMISAAITEAHE =8 20,000
SESEHANASXNEE M HIMA XS 5,332,500 2,577,375 2,755,125
= 4,725,000
o= 607,500
308 AMXISHMSOIA 5,332,500 2,577,375 2,755,125
= 4,725,000
=} 607,500
01 AIXSHMENMNEXZ 5,332,500 2,577,375 2,755,125
OXSSENG=SXNELEHAHMNLE XA 5,332,500
2 4,725,000
& 607,500
SAMEHAHMSE S LT ALS 20,000 0 20,000
201 B9 20,000 0 20,000
01 AP 22| H| 20,000 0 20,000
OZ2XNEEHAMNEEESAE 20,000
SESAH A ME S E2ANF 20,000 0 20,000
307 2iz2to| A 20,000 0 20,000
10 Ml SR EX 20,000 0 20,000
[(JSeAd &2 dS 22 D=R 20,000
SN AAIS F& 9,967,400 11,244,430 N 1,277,030
= 1,500,000
=} 8,467,400
2INEELH XS 630,000 667,000 A 37,000
307 QI2t0| ™ 630,000 617,000 13,000
10 Al SR EX 630,000 617,000 13,000
OS2 gH X3 105,000
OEECH LAY 243,000
OzEAo2d3=Xg2a2d 90,000
OBESUHESALY 127,000
(82 =Sl &t AF 65,000
FNEEUATHRLX 3,349,400 3,422,430 A73,030
201 et 18,000 18,030 A 30
01 AP 2t 2] H| 18,000 18,030 A 30
Ogs=2H| 18,000
O=2IIEEYRFTRUBIL2H| 18,000
202 044 10,000 10,000 0
01 2Ll 10,000 10,000 0
02828 2F X0l 10,000
301 YptE A 65,000 48,000 17,000




M AR =X
H: XNGASX A A2 3

e SIHLAMGFA (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET

01 MEIBEE 263 65,000 48,000 17,000
O33R 3NLREHA2 65,000

307 21201 A 200,000 50,000 150,000

10 A2l =S X2 X 200,000 50,000 150,000
O3t 3XItsUAIE S oIS T3 200,000

308 XX EHHSOIA 3,056,400 3,296,400 A 240,000

01 HIXNHHNBNEES 3,056,400 3,296,400 A 240,000
OD=gfR3NARIASHNA 56,400
O8RS NEU=Z A= 3,000,000

SHEESHANEL XA 545,000 395,000 150,000

307 21201 A 215,000 265,000 250,000

10 A2l S X2 X 215,000 265,000 A50,000
OFAELICIAI A2 Z 100,000
OoHAEHESALEH S = MIOILE 65,000
OMH4zSsZddSF0dENE 50,000

308 XX EHHSOIA 330,000 130,000 200,000

01 HIXNHHNBNEES 330,000 130,000 200,000
Oss2ddANLSIEEUSEILAZ AL 20,000
OFMASTEESSAFTI2HA 10,000
OM4sIHSZHELS A 200,000
OMoal &=l HEHSII S A 50,000
OYsZUEANS ISl A 50,000

SH2sAZ Y2 186,000 110,000 76,000

201 Let24E] 32,000 0 32,000

01 At 22l 32,000 0 32,000
OB =T6. 28 HH S AL X =2l 32,000

207 RO 154,000 110,000 44,000

01 A2 39l 154,000 110,000 44,000
OZ4=EC=S2H2sAE2t 136,000
OZ&4=E6.258 A S AL 2 18,000

SSANELSZEENEHS 3,657,000 5,650,000 A 1,993,000

403 MtXISHH S =01 & 3,657,000 4,000,000 A 343,000

01 X SHHMA=2EE 3,657,000 4,000,000 A 343,000
OEMASHENESIIESI I A 3,357,000
OZSANsSEEAHE 200,000
O2ZANssEHadAE 50,000
O=st2ssgHE=s 50,000

FH MBI ENR ARLYRE NS 100,000 0 100,000
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2N

X ZH
S =

el

Ab8l = X Bt
VY- EV N E[ESTE-T
CEREIES

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

402 SI2FXHE0| & 100,000 0 100,000

01 Q228 X 100,000 0 100,000
O dEBENSEEXNEAIRAANS X 100,000

JAECESgAAHE 1,500,000 900,000 600,000
= 1,500,000

403 XX SHHS K20 & 1,500,000 0 1,500,000
= 1,500,000

02 2 2SS0 CHeCH& AL I 1,500,000 0 1,500,000
JHAMAECTEEH2HE 1,500,000
= 1,500,000

HAHSHAY (AFSI =X 0H) 113,568 113,366 202

olad 2 A Y| 19,828 19,037 791

oled A Y| 19,828 19,037 791

101 e1214| 19,828 19,037 791

03 2INHAZ2ZXNHE = 19,828 19,037 791
Oz (25a) 19,828
OPIE=3= 40,830 x 18 x250 10,208
O&a= 10,207,500 *1/12%400% 3,403
Ox&s4 40,830 124 52 2,124
OW X 40,8303 x1H x15L 613
OnEEXH 60,000 ~12& 720
OY & s0ty| 600,000& 1 *x23] 1,200
OdHZAH| 130,000 x1H ~12& 1,560

JlE&d| 93,740 94,329 A 589

Jl2 &4l 93,740 94,329 A 589

201 Bt 27,340 27,929 A 589

01 AP 22| H| 26,500 27,929 AN 1,429
OgstL2H| 16,500
OJlI2NessY 13,500
OUBIRSUTHRYS 3,000
[12&H| 10,000
OASEXERFRSAHY| 10,000

02 Z2=2=24%4| 840 0 840
R 840

202 044 13,000 13,000 0

01 2L bl 13,000 13,000 0
OJAMSIEXERF=E0H 13,000

203 SR F & 25,200 25,200 0

01 JI22HEHYRFAH| 6,600 6,600 0
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SN ALSI S X
M #Y2AZH (AsI =X D)
¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0= 6,600
04 FNSEH =L 18,600 18,600 0
130 Ol ot 350,000& *3M 2 M +12& 12,600
[J15F Ol ot 250,000& 2 2 M+ 12& 6,000
204 MR FH| 28,200 28,200 0
01 Mg AR FH| 28,200 28,200 0
O=% 7,200
k& 350,000& x5H «12& 21,000
WHRES(AFS S X1 59,270,699 53,135,470 6,135,229
WEHHX S 59,270,699 53,135,470 6,135,229
IESHII=2ZELIACHIRE = 59,270,699 53,135,470 6,135,229
701 JIEtSI HEES 59,270,699 53,135,470 6,135,229
01 JIEteI HE =2 59,270,699 53,135,470 6,135,229
OA=20II=2dSE3HEHRES 59,270,699
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